Literal Equations

Name

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Solve the formula for the specified variable.

I)d=rt forr
A)r=d-t

2)I=Prt fort

4) V:%Bh for h

B
Ah=3v

5)P=a+b+c forc
A)c=a+b-P

6) P=2L+2W  forW
A)W=P-L

7VA=P+PRT forT

A-P
A)T=—r
) PR

8) A:%h(B‘r by forb

2A -Bh

A)b==

9
9F==C+32 forC

9
A)C=(F-3)

B) r=dt

P-1

B)t=
) 1+r

B)b=—t
2A

B)h=—

B)e=P-a-b

A-P

B)b=

BC=t-%

2A +Bh

d
C)[’——t

C)t=P-1Ir

Ciba=

A
Or==%

A - Bh

C)b=

C)C=%{F -32)

Dyr=

o~

I
D= Pr

D)b=—
) 2h

3B
D)h==7

D)yc=P+a+b

D)W=d-2L

D) b=2A - Bh
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